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Calculate wt of NaOH required for preparing 50ml, 0.2N ?
40 s»» NaOH JV (Al o5 sll= A sadl ¢ 550

_ wt. . 1000
eqwt V(ml)

_wt. 1000

0.2= 40 50 ml

0.2%40+50
Wit =
1000

Wit=0.4 gm

(pidliie piole paniui — 2

Q1//(0.1N, 25ml) KHP titrated with NaOH , calculate wt of
NaOH?

KHP = NaOH
Ni* Vi = Np*V,
0.IN*25ml = eq”fvt_ %1000
40 s» NaOH J FSEaiignsi
Wiz 01525740 _ o0 gm

1000
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Calculate the volume of HCI required for preparing (250 ml and
0.1N) , the HCI have (v/iv% 38%) with density 1.198??

36.5 HCI J' FEEigEs

_ density x%+1000

eq.wt

N

1.198+-3 41000

0 = 1247
36.5

o) G g8 Gadad GlIAL S jall s 2y 5 JVseally g 38 pall ey 1
HCI concentration= HCI gitute
N *V; = Ny*V,
12.47 N *V; = 0.1 N* 250 ml
Vi=2ml

Libio 5oLl 44 joll 4y pal) Lsnwill Olay) -4
What (wt./wt%) for KHP when Wt. of sample 2 gm, required to

preparing 0.1N ,50 ml??
204 » KHP J FEEagEs

_ wt. . 1000
eqwt V(ml)

_ wt. 1000
0.1= 204 50 mi

Wt =1.02gm

wiwt.% =—2= X 100

wt.of sample
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WHWL.% = 12£ +100 = 51%
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(V1) distilled Water shial) el ae 2l ol 55 mmasi aan 30 (V) NaCl

0.05 N AgNO; titrated with (10 ml) NaCl. Calculate the N of
NaCl? [when volume of AgNO3 titrated with NaCl 12 ml and
the volume of AgNOBS titrated with distilled water is 1.5 ml (error
titration)]

(N *V) AgNO3 = (N * V) NaCl
(0.05 * 4slaws (5o J3U) agnosz = (N* 10 Ml asle ) noc
(0.05* V =V1) agnos = (N* 10 ml &ale ) nue
(0.05* 12 -1.5) agnos = (N* 10 ml 4sle ) noc
(0.05* 10.5) agnoz = (N* 10 ml 4wl ) yqc
0.525 = N *10
N of NaCl = 0.0525

J LY 5 52uSY/

3acld (aala clasad (il g8 g Gaadal (udd
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(Complex formation titration )

3 ypund) o) 938 dads

(0.01M + Vaaau)EDTA + 1000 + MWT of CaCO3

volume of tap water 25 ml

ppm(mg/L) =
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Q- 50 ml of wastewater titrated with ( 0.1 M, 20 ml)
EDTA. . calculate the hardness of wastewater
expressed by ppm for MgCO3?( Mg=24, C=12, 0=16)

M.Wt of MgCO3= 24+12+48= 84 g/mol

(M+V)EDTA+1000+M.WT of salt

volume of wter sample

pPpm=

_ (0.1+20)+1000+84
50 ml

=3360 ppm

Q-50 ml of wastewater titrated with ( 0.1 M., 40
ml) EDTA . calculate the hardness of wastewater
expressed by ppm for CaCO3?
M.Wt of CaCO3= 40+12+48= 100 g/mol

(M+V)EDTA=1000+M.WT of salt

volume of wter sample

Ppm=

_ (0.1+40)+1000+100
50 ml

=8000 ppm

Q-wastewater hardness is S000ppm of CaCl; titrated
with ( 0.1 M, 40 ml) EDTA.calculate the volume of
wastewater?

M.Wt of CaCly,= 40+(35.5%20)= 111 g/mol

(M+V)EDTA=1000+«M.WT of salt

volume of witer sample

Ppm=

(0.1+40)+1000+111
Vml

5000 = = 88.8 ml




